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d. The baker pays $0.50 per pound for sugar and $0.75 per pound for butter. Write an expression that
shows how much the baker will spend if he buys 6 pounds of butter and 20 pounds of sugar.
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e. Chocolate sprinkles cost as much per pound as sugar. Find I;—othe baker’s total cost for 100 pounds

of chocolate sprinkles. Explain the number of zeros and the placement of the decimal in your answer
using a place value chart.

$0.50 + 100 = $0,0050

The bﬂvW‘ PoNZ
450,057 100 [ber

O% 6?(“\ s,

engage™ e

This work is licensed under a
Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

EUREKA ‘ Module 2: Multi-Digit Whole Number and Decimal Fraction Operations

MATH

This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015-Great Minds. eureka math.org
This file derived from G5-M2-TE-1.3.0-06.2015




